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1. Choose the correct answer of the following :

1x7=7
oot MAIRIY wa Seacst A Sfnea ¢
(i) A cell becomes turgid when placed in
(a) isotonic solution
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(b) hypertonic solution : b7 sl [ 2T vilkewiE SRS «{

T AT IR
(c) hypotonic solution @ cwa el
(d) None of the above | () <RcR R
T B} e |/ AN IR I =W (c) SR T
(@) R T | (d) =R
(b) TGAN TS (i) Guttation takes place through
(0 AR e (a) stomata
(b) cuticle

(d) 89 IS W

o b {¢) hydathode
(i) The water held tightly by the soil

particles around them is known as (d) lenticel
(aj field capacity R foeg ot e
(b) runaway water (@) “9%&
. () Ry
(c) hygroscopvlc water o v
(d) capillary water S
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(iv) Krebs cycle takes place in

(@) chloroplast

(b) ribosome

() mitochondria

(d) endoplasmic reticulum
(&G BF AEGS

(@ FTAR

(b) I

(c) =G ER

(d) TP Gifer

The oxygen during photosynthesis

comes from water, was proved by

(a) Kamen and Ruben

(b) Hill
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(vi)
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(c) Warburg
(d) Blackman

AETFAETNS AT A9 TR Teog
I e R

(a) T IR IR
R

(c) I

(d) EIEA

Abscisic acid causes

(a) faster leaf fall

(b) dormancy of tubers
(c) retardation of growth

(d) All of the above
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iR afee IR
(@) CIN N 2AC AR

(b) TV &Y
(c) TSfer I afcmiy

(d) 87T FIERY

(vii) Non-protein part of enzyme is known

as
(a) holoenzyme

(b) apoenzyme

{c) coenzyme

(d) All of the above

T T oA TG (IR =W
(@) TeTGTENEN

(b) GGG

(c) e

(d) 89T SRS
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2.  Write short notes on the following: (any
Jour) 2x4=8

woe AIRIR 53, Gl forat 3 (Rizeart B1i<o1)

(@)
(b}
()
(d)
(e)
()
{a)
(b)
(c)
(d)
(e)
)

Plasmolysis
Role of stomata
Chlorophylls
Macronutrients
Vernalization

Respiratory quotient
&b glier IR
T g

Rz

JAC

PR

WY SIS

3. Write short notes on the following: fany
three) 5x3=15

e AR SR fordl ¢ (R fefon)

(@)
(b)

Glycolysis

Mechanism of stomatal transpiration
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(d)
(e)

Photoperiodism

Biological nitrogen fixation
Gibberellins

RIES B

G ATTW el

ity efsfemt

TS ARG e A
raicfem

4, Answer any three of the following

questions :

10x3=30

oo Rieret fofist 2k Bt 31¢

(@)

()

Describe the mechanism of active and
passive absorption of water by roots.
5+5=10

Ristig wr" cgal wEFn Wi [T cnE afem
I =0

What are essential elements in plant
nutrition ? Explain the role of any three
of them and show how their deficiency
affect the plant growth. 2+6+2=10
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()

(@)
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e T offte SRR (et e 3R
Reaen fORGr GNer ot 3=emg ol o
TR ARG SR (e RWE doR (e
ST 4 |

What is photosynthesis ? Give an
account on mechanism of CO, fixation

expressing major steps and the end
products in the process. 2+8=10

ATl Fe COp, I AR 1
SIGIPZ OIF TR TeoAifTe TIPTR SogIo
R aft Gt wife <=

Describe Krebs cycle and explain the
functions of various enzymes taking
part in it. 7+3=10

(@5 5F I T O @2 e e
4l o Termat I T 4
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Jull marks for the questions.

1. Answer the following as directed : 1x7=7
oo frarcies ot famt «=et Tew a3

(a) Which one of the following is mainly
responsible for ozone layer depletion ?

) COy
(i) CFC
(i) CH,
(iv) CO

G T TS AR WFE @0t o ety
w2

i} CO;
(i) CFC
(i) CH,
fiv) CO
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(v)

(c)

(d)

(e)

Peroxyacetyl nitrate is mainly

responsible for .
(Fill in the blank)

IR A (ofafHafbBiZe wiRiGe
Wi | (T 1R 539 )
For which purpose oxidative ponds are
being used ?
& 37 IR TR =4q T T W2
Write the full form of WCED.
WCED T 7= aI% ferdl)
Who mainly led Narmada Bachao
Andolan ?
w9 SR o @I «Rie
Which of the following is responsible
for Bhopal Disaster, 3rd December,
1984 ?
$5b-8 574 © BT Hafbs g (R o
AR FraE W w2
(i) Methyl isocyanate

f=izs SiRpHRIED

(i) Nuclear explosion

e [RoeRd
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(iii) Mercury

A
(iv) Sulphur dioxide
IR TIRTHIRE
(g) Permissible noise level is measured in
the unit of (Fill in the blank)
SIICAS *I3 T GRAT AR IS 1A G061
[ | (T 312 279 )
2. Give very short answers : 2x4=8
S 53t Tew i ¢
(a) What is biomagnification ?

(b)

(c)

(d)

o7 [Rama W e

Write a short note on acid rain.

Hifss g FFew (9 5y Gt &

What is xenobiotic compound ?

T s e & g@me

What is the role of central and state
pollution boards.

@ i M e Ram o e
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3.
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Write notes on : (any three)

5x3=15

Cormt i 8 (R fofaoy)

(@)

(b)

(c)

(d)

(e)

(@)

Salient features of the Forest
Conservation Act, 1980

SRy R WE, sabo I T WREPRR
Bioreactors

IJWEETI®

Anthropogenic effect on global

environmental issues

Ry iRC TR (RY TR R T
Water pollution

Tl AgI

Ramsar Convention, 1971

TR ARG, 994D

Describe various processes used for

wastewater treatment. 10
e NI AR IR T I AFAFTIR
A 4 |
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(b)

Or/<ra4t

Write in detail about the role of NGOs

in conservation of biodiversity. 10

(IR PR o1 (e iwme ot
FHCE IR, vl |

Write an essay on biotechnological
approach for management of

environmental issues. 10

AR AT 7Y A PR R sl
RS MR 9 ot T AT 6 540 |

Or/<i9<t

Where was Gandhamardan and Silent
Valley Movement organised ? Critically

analyse the impacts and outcome of

those movements. 2+8=10

TN R TR ST ST TS

TS 2| @] SiTHe WO g
T e e i |
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(c)

How is economic growth related to
environment ? Explain the possible
measures for better economic growth
without affecting environment.
4+6=10

iR e g Tafs R wiceiat 2 iR

wfo 7ol 8w Tafomwr TATTIR
(PEAYIT T AT SNAGA A |

Or/<1%431

Describe the major recommendations
made in Rio Earth Summit-UNCED,
1992. What are the similarities between
Stockholm Conference, 1972 and Rio
Earth Sumit-UNCED, 1992.

7+3=10

e Ry TR 2 i [ R 3T
fBrdl | O AfER TIre 899, spas AR
@A @R e gy ort i 3t =i
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